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QUESTION 1

-- Exhibit

. V-4 . Vi-B
f VXLAN 7775 :
: VXLAN 7321 :

10.20.10.11

10.20.10.10

" vSphere Host

-

) VXLAN TransportNetwork O >

-- Exhibit -An administrator has configured an NSX network as shown:
Both VM-A and VM-B use the same Distributed Router for their default gateway.
If VM-A sends a packet to VM-B,what happens to the packet before it reaches VM-B?

A. Distributed Router in Host-A receives the packet from VM-A and forwards it to Logical Switch 7775 in Host-B, via a
VXLAN frame, which delivers it to VM-B.

B. Logical Switch 7321 in Host-A receives the packet inside a frame from VM-A and forwards it to Logical Switch 7775
in Host-B, via a VXLAN frame, which delivers it to VM-B.

C. Distributed Router in Host-A receives the packet from VM-A and forwards it to Logical Switch 7321 in Host-B, via a
VXLAN frame, which delivers it to Logical Switch 7775 before it is delivered to VM-B.

D. Logical Switch 7321 in Host-A receives the packet from VM-A and forwards it to the Distributed Router in Host-B,
which passes it along to Logical Switch 7775 in Host-B before it is delivered to VM
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E.

Correct Answer: A

QUESTION 2

Which two statements describe the network connectivity provided by a vSphere Standard Switch (vSS)? (Choose two.)
A. A vSS provides a direct and logical connection between a virtual machine NIC and a physical NIC.

B. A vSS provides a direct and logical connection between two vSphere Distributed Switches.

C. A vSS connects the vNIC of a virtual machine to the physical network based on the bandwidth of the VM\\'s
configured network adapter.

D. A vSS connects the vNIC of a virtual machine to the physical network and is not restricted to a specific bandwidth
allocation based on the VM\\'s configured network adapter.

Correct Answer:. AD

QUESTION 3

A vSphere administrator deployed an NSX Edge Load Balancer in HA mode. What happens in the event the Load
Balancer has a failure?

A. The secondary NSX Edge Load Balancer assumes the role of primary. Existing Flows will need to have their
connections reestablished.

B. HA will start the NSX Edge Load Balancer on another ESXi host in the cluster. All existing flows will need to have
their connections reestablished.

C. HA will start the NSX Edge Load Balancer on another ESXi host in the cluster. The NSX Controller caches existing
flows and hands them to the Load Balancer when it is back up.

D. The secondary NSX Edge Load Balancer assumes the role of primary. The NSX Controller caches existing flows and
hands them to the Load Balancer when it is back up.

Correct Answer: A

QUESTION 4

How is the Bridge Instance chosen?

A. Itis chosen based on the ESXi host where the Logical Router Control VM is running.

B. It is manually assigned by the vSphere administrator when the distributed portgroup is configured.

C. During an election process among all ESXi hosts. The host with the highest MAC address is selected.

D. The VTEP configured with the highest VXLAN Network Identifier (VNI) is selected.
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Correct Answer: A

QUESTION 5

How many syslog servers can be configured for an NSX Edge device?
Al

B.2

C.3

D.4

Correct Answer: B
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